10-701/15-781, Fall 2006, Midterm

There are 7 questions in this exam (11 pages including this cover sheet).
Questions are not equally difficult.

If you need more room to work out your answer to a question, use the back of the page
and clearly mark on the front of the page if we are to look at what’s on the back.

This exam is open book and open notes. Computers, PDAs, cell phones are not allowed.

You have 1 hour and 20 minutes. Good luck!

Name:
Andrew 1ID:
Q | Topic Max. Score | Score
1 | Conditional Independece, MLE/MAP, Probability 12
2 | Decision Tree 12
3 | Neural Network and Regression 18
4 | Bias-Variance Decomposition 12
5 | Support Vector Machine 12
6 | Generative vs. Discriminative Classifier 20
7 | Learning Theory 14
Total 100




1 Conditional Independence, MLE/MAP, Probability (12 pts)

1. (4 pts) Show that Pr(X,Y|Z) = Pr(X|2) Pr(Y|2) if Pr(X|Y,Z) = Pr(X|2).

Pr(%,Y|Z) = Prx\Y,2)R(y|Z) (chain rule )
= Pr(x|2)Pr(Y|2)

Common Mistake. : Pr(X]Yﬁ)Z )=Pr(x|2) = X 1LY given Z
> P (x,¥]2)=PUXIDRM2)
the first = does not hold I{ the equation is not for all possi e, muw;
2. (4 pts) If a data point y follows the Poisson distribution with rate parameter 6, then the ¥ X
probability of a single observation vy is

gV
pyle) = ——, fory=0,1,2,-.
y!

You are given data points y1,- - , ¥y, independently drawn from a Poisson distribution with
parameter 6. Write down the log-likelihood of the data as a function of 6.

> ey (Yslog6-0 — Loy 51 )
(£ g ns — log([[ 1)

3. (4 pts) Suppose that in answering a question in a multiple choice test, an examinee either
knows the answer, with probability p, or he guesses with probability 1 — p. Assume that the
probability of answering a question correctly is 1 for an examinee who knows the answer and
1/m for the examinee who guesses, where m is the number of multiple choice alternatives.
What is the probability that an examinee knew the answer to a question, given that he has

correctly answered it?
P( fnow omswers, covvect )
Know omaw corvest ) = —
P(Know exr l rrect ) Plconect )

4
P+ (-Dm

(1




4 Bias-Variance Decomposition (12 pts)

i3

(6 pts) Suppose you have regression data generated by a polynomial of degree 3. Characterize
the bias-variance of the estimates of the following models on the data with respect to the true

model by circling the appropriate entry.

Bias Variance
Linear regression low/Qigh (ow/high : @

Polynomial regression with degree 3 /high  (ow)Yhigh
Polynomial regression with degree 10 |(low) high lowlﬁiﬁb \\/\
\T g

. Let Y = f(X) + ¢, where € has mean zero and variance 2. In k-nearest neighbor (kNN) M.L/

regression, the prediction of Y at point z¢ is given by the average of the values Y at the k OV\
neighbors closest to xg. ﬂ m
(a) (2 pts) Denote the ¢-nearest neighbor to zo by z(; and its corresponding Y value by Y\/\OM

Y(e)- Write the prediction f (xo) of the kNN regression for x¢ in terms of y,1 < £ < k.

k
A |
%)= & ;
f (%)= = Yy
(b) (2 pts) What is the behavior of the bias as k increases? /k(/\/w/‘)&
Ihcrease. 0&3\/

(¢) (2 pts) What is the behavior of the variance as k increases? q

dlecrease Wb Lln we
ooV




5 Support Vector Machine (12 pts)

Consider a supervised learning problem in which the training examples are points in 2-dimensional
space. The positive examples are (1,1) and (—1,—1). The negative examples are (1,—1) and
(-1,1).

1. (1 pts) Are the positive examples linearly separable from the negative examples in the original
space?

No

2. (4 pts) Consider the feature transformation ¢(x) = [1,z1,22,2122], where z; and z3 are,
respectively, the first and second coordinates of a generic example x. The prediction function
is y(z) = wT % ¢(z) in this feature space. Give the coefficients, w, of a maximum-margin
decision surface separating the positive examples from the negative examples. (You should
be able to do this by inspection, without any significant computation.)

w = (O) O) O)l)T

3. (3 pts) Add one training example to the graph so the total five examples can no longer be
linearly separated in the feature space ¢(z) defined in problem 5.2.

e -

4. (4 pts) What kernel K (z,z’) does this feature transformation ¢ correspond to?

7 )
| 4 X X{ + Xo Xg F XXX Xy




6 Generative vs. Discriminative Classifier (20 pts)

Consider the binary classification problem where class label Y € {0,1} and each training example
X has 2 binary attributes X, Xo € {0,1}.

In this problem, we will always assume X; and X are conditional independent given Y, that
the class priors are P(Y = 0) = P(Y = 1) = 0.5, and that the conditional probabilities are as
follows:

PXY) [ X1=0 X;=1 PXLY) | X2=0 Xo=1
Y=0 | 07 0.3 Y=0 | 09 0.1
Y=1 0.2 0.8 Y=l 0.5 0.5

The expected error rate is the probability that a classifier provides an incorrect prediction for an
observation: if Y is the true label, let Y (X7, X3) be the predicted class label, then the expected
error rate is

1

1—Y(X1,X2)) -y 21: PﬁXl,Xg,Yz 1 —Y(XI,XZ)).

X1=0 X2=0

Pp (Y:

Note that we use the subscript D to emphasize that the probabilities are computed under the true
distribution of the data.

*You don’t need to show all the derivation for your answers in this problem.

1. (4 pts) Write down the naive Bayes prediction for all the 4 possible configurations of X1, Xs.
The following table would help you to complete this problem.

2. (4 pts) Compute the expected error rate of this naive Bayes classifier which predicts ¥ given
both of the attributes {X;, X2}. Assume that the classifier is learned with infinite training

data.

—
—

X1 | Xo | P(X1,Xa,Y =0) [ P(X1,X5,Y =1) | Y(X1, Xa)
0| 0 [ o7x09x0.5 0.2 %05 %05 [0}

0 | 1 | o7xo|x0¥ 6) X0.-£x0-5% (

1] 0 | 0:3%0.9 %08 0. &§x0-5»of |

1 | 1] p3xo.[xo.¥ 0.8x0-§xo0.5 ]

0.2x0.Cxo0§
+ 0.7x0:(xo-§

+03%0qxo0-§
+ 03xo:(x0§




3. (4 pts) Which of the following two has a smaller expected error rate? Prai et

A
| = ¥=1i
@he naive Bayes classifier which predicts Y given X; only K=l ~ O( =0
e the naive Bayes classifiepawhich predicts Y given X5 only e
Predichm o= Y =81 ROe=), Yvo)ﬂ;)(m ol PLXi=0,Y=0)+R(X =0.7=))
X205 ¢=p  TOlrosto fxor =03 7 0.3x0.C+o. on;,o >3

4. (4 pts) Now, suppose that we create a new attribute X3, which is a detprministic copy of Xo.
What is the expected error rate of the naive Bayes which predicts Y given all the attributes
(X1, X2, X3) now? Assume that the classifier is learned with infinite training data.

Xy Xz X=X Pug () %o X3, Y20) P (KK X3,Y=1) ‘((\(Xm(w@

0 O O 0.T%0.9x0.9x0 0.2 %05 XO.L %ok 0
o | ’ 0.7 ¥ o [xo-[ro§” 0.2 ¥ 0.5 %0.Cxo.% [
VO 0 0-3%0.9 x0.9x0§ 0.8 x0-Ex05¥0l 0
[ ) f 03 xo.( X0 [X0 & 6.8 x0f%0.Ex0.§ ;

= D2xo&rol Pr (X420 ,%.=0,Y=1)
E(YW YOIQ + 0? XO'(XOS— FD(X\’/O /Xz.’/‘/\(_;o)
+ 0.8 xo¥ xo.€ Pp (Xi=1\, X2=0,Y=1)

t g.ix o xo Pp (K=, X2, Y:o)
5. (4 pts) Explain what is I ng with naive Bayes in problem 6.47 Does logistic regression

suffer from the same problem? Why?

The conditional Tndgfzudm& assumplion of rdive
Boyes clusifiey cloes not hold . X> 4 overcownded
eadnr? +o am exyey mdahm whep %i=p.%=0

LR does not siffer becuuse i+ does not meke such |
W[ﬁMihdMWamWﬁm




